Name_______________________________________
Density

Quick easy practice question
Review: what is the volume of the pyramid?
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1 inch = 2.54 centimeters
1 meter = 39.37 inches

1 mile = 5280 feet

1 mile = 1760 yards

1 mile = 1.609 kilometers

1 kilometer = 0.62 mile
1 pound = 16 ounces

1 pound = 0.454 kilograms
1 kilogram = 2.2 pounds

1 ton = 2000 pounds

1 cup = 8 fluid ounces
1 pint = 2 cups.

1 quart = 2 pints

1 gallon = 4 quarts

1 gallon = 3.785 liters

1 liter = 0.264 gallon

1 liter = 1000 cubic centimeters




1) Convert 164 miles to feet.
2) How many pounds are in 2,400 ounces?

3) Convert 8.7 liters to quarts.
4) The Martino Family is installing a pool in the shape of a Rectangular Prism (as Shown below). The 
       dimensions of the pool are 120 in. x 72 in. x 48 in. If they fill the pool all the way to the top, how many 
       gallons of water is in the pool. 
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5) Town A has 6.1 million people in it.  The dimensions of Town A are 6 miles by 9 miles.  Town B has 7.2 million people in it.  Town B is circular shaped with a diameter of 8 miles. 

Algebraically, determine which town has the greatest population density. Explain why.
6) Roberta is making spherical ball ornaments and selling them.  The radius of each ornament is 4 cm. The density of each ornament is 502 kilograms per cubic meter, and the material needed to make these ornaments can be sold by mass at a rate of $1.80 per kilogram.

Determine and state the minimum number of ornaments that must be sold to raise at least $150.

7) During an experiment, the same type of bacteria is grown in two petri dishes.  Petri dish A has a diameter of 51 mm and has approximately 40,000 bacteria after 1 hour.  Petri dish B has a diameter of 75 mm and has approximately 72,000 bacteria after 1 hour.

[image: image5.png]B
A
40,000

——51 mm— —75mm—nv«w——




Determine and state which petri dish has the greater population density of bacteria at the end of the first hour.

8) You purchase a cylindrical tub of ice cream. With a radius of 3 in. and a height of 6 in. Determine the mass (in kg) of the tub of ice cream given that the density of ice cream is 0.18 kg/cup.
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